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QUESTION 1

Which unit of physical storage capacity on a host and a group of physical devices provides performance and capacity to
the Virtual SAN cluster? 

A. Disk Group 

B. Disk 

C. Device Group 

D. Host Group 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.0/com.vmware.vsphere.virtualsan.doc/GUID-1D8956A2-3F46-49C8-9231-38F3A9D09A0F.html 

 

QUESTION 2

Which VMware Cross-Cloud Architecture component can speed up and improve IT service delivery, improve IT
operations, and deliver end-user choice with control across heterogeneous and multi-cloud environments? 

A. VMware Workspace One 

B. VMware vRealize Suite 

C. VMware Airwatch 

D. VMware Cloud Connector 

Correct Answer: B 

Explanation: Vmware vRealize Suite delivers a comprehensive enterprise-ready cloud management platform (CMP) that
can speed up IT service delivery, improves IT operations, and delivers end-user choice with control, across
heterogeneous, multi-cloud environments (vSphere and non-vSphere). 

Reference: http://ir.vmware.com/overview/press-releases/press-release-details/2016/VMware-Unveils-New-Cross-Cloud-
ArchitectureTM-to-Give-Customers-Cloud-Freedom-and-Control/default.aspx 

 

QUESTION 3

A customer would like to implement a holistic monitoring solution in its environment. What VMware product would meet
this particular requirement? 

A. VMware vRealize Operations Manager 

B. VMware vRealize Network Insight 

C. VMware vRealize Log Insight 
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D. VMware vRealize Automation 

Correct Answer: A 

 

QUESTION 4

What is VMware\\'s network virtualization solution for the Software Defined Data Center (SDDC)? 

A. VMware NSX for vSphere 

B. vSphere Opaque Network 

C. vSphere Distributed Switch (vDS) 

D. vSphere Standard Switch (vSS) 

Correct Answer: A 

Reference: https://www.vmware.com/solutions/software-defined-datacenter/in-depth.html 

 

QUESTION 5

Which two are use cases for a VMware vSphere deployment. (Choose two.) 

A. A company wants higher availability in their data centers. 

B. A company wants to run all applications directly on bare metal servers. 

C. A company wants a mixed workload of public and private cloud. 

D. A company wants to run all workloads in the public cloud. 

E. A company wants to run all workloads on-premises. 

Correct Answer: AE 

 

QUESTION 6

Which three choices are key objectives or deliverables for proposing a solution? (Choose three.) 

A. Design Requirements Workbook 

B. Backup Strategy 

C. Operating Procedures 

D. Implementation Guide 

E. Validation Procedures 

Correct Answer: ACD 
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QUESTION 7

A supervisor wants to find a way for employees to access remote desktop applications without having to install any
additional software other than a web browser. Which aspect of Horizon 7 would be a solution? 

A. Horizon Client 

B. HTML Access 

C. vSphere Client 

D. VMware Tools 

Correct Answer: B 

If you use the HTML Access feature, end users can open a remote desktop or application inside a browser, without
having to install any client application on the client system or device. Reference: https://docs.vmware.com/en/VMware-
Horizon-HTML-Access/4.6/html-access-installation/GUID-AD6BF5D5-92EA-4762-A8C7-6E30DC3B3908.html 

 

QUESTION 8

Which three features are common across all VMware vRealize Suite Cloud Management Platform editions? (Choose
three.) 

A. vRealize Chargeback 

B. vRealize Automation Advanced 

C. vRealize Operations Advanced 

D. vRealize Log Insight 

E. vRealize Business for Cloud Standard 

Correct Answer: BDE 

Reference: https://docs.vmware.com/en/vRealize-Suite/2017/vrealize-suite-2017-overview.pdf 

 

QUESTION 9

Which server sits in the DMZ and allows external devices to connect to the Horizon Mirage service? 

A. Mirage Server 

B. Mirage Branch Reflector 

C. Mirage Management Server 

D. Mirage Gateway Server 

Correct Answer: D 
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Reference: https://blogs.vmware.com/consulting/tag/horizon-mirage 

 

QUESTION 10

Which two components are leveraged with VMware vSAN? (Choose two.) 

A. VMware vVols (virtual Volumes) 

B. Industry standard hardware 

C. VMware HCS (Hyper-Converged Software) 

D. VMware VSA (virtual Storage Appliance) 

E. Fabric switches 

Correct Answer: CD 

 

QUESTION 11

A network administrator needs to deploy these logical network components at scale: 

1.

 Logical switches 

2.

 Logical routers 

3.

 Firewall 

4.

 Load balancers 

5.

 Virtual Private Networks (VPNs) 

6.

 Application Programming Interface (API) 

Which three of these VMware NSX network components are a distributed function within the vSphere virtual
infrastructure? (Choose three.) 

A. Logical Switches 

B. Application Programing Interface (API) 
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C. Virtual Private Networks (VPNs) 

D. Load Balancers 

E. Logical Routers 

F. FIREWALL 

Correct Answer: DEF 

 

QUESTION 12

Which is the main differentiator for VMware vSAN when compared to a Virtual Storage Appliance (VSA)? 

A. VMware vSAN is integrated into the ESXi Kernel. 

B. VMware vSAN can be implemented with external storage. 

C. VMware vSAN is implemented as virtual Appliance. 

D. A VSA is tightly integrated with VMkernel. 

Correct Answer: D 

 

QUESTION 13

Which two statements about Horizon Agent are true? (Choose two.) 

A. The Horizon Agent cannot be installed with an option for single sign-on. 

B. Install the Horizon Agent service on all virtual machines, physical systems, and Microsoft RDS hosts that are used as
sources for remote desktops and applications. 

C. If the desktop source is a virtual machine, install the Horizon Agent service on that virtual machine and then use the
virtual machine as a template or as a parent of linked clones. 

D. On virtual machines, the Horizon Agent communicates with View Connection Server to provide features such as
three-factor authentication, ransomware protection, anti-virus, and access to locally connected FireWire devices. 

Correct Answer: BC 

 

QUESTION 14

Which two benefits are delivered through VMware Software Defined Data Center (SDDC)? (Choose two.) 

A. Complex architecture 

B. IT driven policies 

C. Comprehensive management 
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D. Flexible cloud delivery 

E. Increased administrative cost 

Correct Answer: BC 

Reference: https://www.vmware.com/solutions/software-defined-datacenter.html 

 

QUESTION 15

Which vSphere component provides hypervisor-based virtual machine replication and recovery? 

A. VMware Site Recovery Manager 

B. VMware vSphere Data Protection 

C. VMware vSphere Replication 

D. VMware vSAN 

Correct Answer: C 

VMware vSphere Replication is a hypervisor-based, asynchronous replication solution for vSphere virtual machines. It is
fully integrated with VMware vCenter Server and the vSphere Web Client. vSphere Replication delivers flexible, reliable
and cost-efficient replication to enable data protection and disaster recovery for all virtual machines in your
environment. 
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